
Exploded diagram and spare parts list  DN639 

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Exploded diagram and spare parts list  DN639 

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

 

Machine Explode  Code Description 

Santos 12-12 Meat Mincer Red 12101  COMPLETE MINCER BODY 12-8 

Santos 12-12 Meat Mincer Red 12102  MINCER BODY WITH PIN 12-8 

Santos 12-12 Meat Mincer Red 12103  MINCER BODY ONLY 12-8 

Santos 12-12 Meat Mincer Red 12104  GROOVED PIN D4X20 

Santos 12-12 Meat Mincer Red 12105  LATERAL LOCKING SCREW 

Santos 12-12 Meat Mincer Red 12106  COMPLETE FEED WORM SCREW 

Santos 12-12 Meat Mincer Red 12109  NYLON GASKET 

Santos 12-12 Meat Mincer Red 12110  STAINLESS STEEL MEAT MINCER KNIFE N8 (12-8) 

Santos 12-12 Meat Mincer Red 12111  STAINLESS STEEL PLATE N 8 -HOLES D 3MM 

Santos 12-12 Meat Mincer Red 12112  STAINLESS STEEL PLATE N 8-HOLES D 4,5MM 

Santos 12-12 Meat Mincer Red 12113  STAINLESS STEEL PLATE N 8-HOLES D 10MM 

Santos 12-12 Meat Mincer Red 12113B  STAINLESS STEEL PLATE N 8-HOLES D 08MM 

Santos 12-12 Meat Mincer Red 12114  ALUMINIUM THREADED NOSE 

Santos 12-12 Meat Mincer Red 12116  PUSHER 

Santos 12-12 Meat Mincer Red 12200  COMPLETE REDUCING GEAR (WITH WORM SCREW) 

Santos 12-12 Meat Mincer Red 12200B  COMPLETE REDUCING GEAR (WITHOUT WORM SCREW) 

Santos 12-12 Meat Mincer Red 12201  GEARBOX WITH SEAL 

Santos 12-12 Meat Mincer Red 12202  GEARBOX 

Santos 12-12 Meat Mincer Red 12204  BEARING 6002 ZZ 

Santos 12-12 Meat Mincer Red 12205  GASKET 

Santos 12-12 Meat Mincer Red 12210  COMPLETE REDUCING GEAR NIPPLE 

Santos 12-12 Meat Mincer Red 12211  REDUCING GEAR NIPPLE ONLY 

Santos 12-12 Meat Mincer Red 12213  NIPPLE CAPSULE 

Santos 12-12 Meat Mincer Red 12214  GEAR AXLE 

Santos 12-12 Meat Mincer Red 12215  GASKET 

Santos 12-12 Meat Mincer Red 12215B  O-RING SEAL 48X2 

Santos 12-12 Meat Mincer Red 12216  BEARING 6202 ZZ 

Santos 12-12 Meat Mincer Red 12218  SCREW H 5 X 10 ZN 

Santos 12-12 Meat Mincer Red 12219  BRONZE WHEEL 

Santos 12-12 Meat Mincer Red 12220  SCREW HC 8 X 10 

Santos 12-12 Meat Mincer Red 12221  SCREW CHC  5 X 16 ZN 

Santos 12-12 Meat Mincer Red 12225  WORM SCREW WITH SCREW 

Santos 12-12 Meat Mincer Red 12226  WORM SCREW FOR MEAT MINCER 

Santos 12-12 Meat Mincer Red 12227  SCREW HC M 8 X 10 

Santos 12-12 Meat Mincer Red 12228  O-RING SEAL 

Santos 12-12 Meat Mincer Red 12300  COMPLETE MOTOR 220-240V 50/60HZ 

Santos 12-12 Meat Mincer Red 12300B  COMPLETE MOTOR 100-2120V 50/60HZ 

Santos 12-12 Meat Mincer Red 12301  COMPLETE FRONT FLANGE 

Santos 12-12 Meat Mincer Red 12302  FRONT FLANGE ONLY 

Santos 12-12 Meat Mincer Red 12303  BEARING 6202 ZZ 

Santos 12-12 Meat Mincer Red 12304  BEARING WASHER 

Santos 12-12 Meat Mincer Red 12305  SCREW CB M 4 X 20 ZN 

Santos 12-12 Meat Mincer Red 12307  SCREW H M 6 X 20 ZN 

Santos 12-12 Meat Mincer Red 12310  COMPLETE REAR FLANGE 

Santos 12-12 Meat Mincer Red 12311  REAR FLANGE ONLY 

Santos 12-12 Meat Mincer Red 12313  SCREW H 4 X 10 ZN 

Santos 12-12 Meat Mincer Red 12314  BEARING 6202 ZZ 



Exploded diagram and spare parts list  DN639 

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

Santos 12-12 Meat Mincer Red 12314A  WASHER 

Santos 12-12 Meat Mincer Red 12315  STATOR (WINDING) 220-240V 50/60 HZ 

Santos 12-12 Meat Mincer Red 12315B  STATOR 110V60HZ 

Santos 12-12 Meat Mincer Red 12320  COMPLETE ROTOR WITH SHAFT (SINGLE PHASE) 

Santos 12-12 Meat Mincer Red 12330B  FAN 

Santos 12-12 Meat Mincer Red 12335  ASSEMBLING THREADED ROD 

Santos 12-12 Meat Mincer Red 12336  CAP NUT H M 5 

Santos 12-12 Meat Mincer Red 12341  HEXAGON FIX. NUT REAR FLANGE 

Santos 12-12 Meat Mincer Red 12342  SCREW H 4 X 10 ZN 

Santos 12-12 Meat Mincer Red 12343  GROUND SIGN 

Santos 12-12 Meat Mincer Red 12344  WASHER AZ 4 

Santos 12-12 Meat Mincer Red 12345  NUT H M 6 ZN 

Santos 12-12 Meat Mincer Red 12346  WAHSER W 6 ZN 

Santos 12-12 Meat Mincer Red 12400  COMPLETE BASE 220V 

Santos 12-12 Meat Mincer Red 12400B  COMPLETE BASE 110V 

Santos 12-12 Meat Mincer Red 12406  RUBBER FOOT 25 X 15 

Santos 12-12 Meat Mincer Red 12407  WASHER 4 X 14 

Santos 12-12 Meat Mincer Red 12409  STARTING RELAY (220-240V 50/60 HZ) 

Santos 12-12 Meat Mincer Red 12409B  STARTING RELAY 100-120V 50/60HZ 

Santos 12-12 Meat Mincer Red 12410  SCREW CB M 4 X 10 ZN 

Santos 12-12 Meat Mincer Red 12412  CAPACITOR 150 MF 220-240V 50/60 HZ 

Santos 12-12 Meat Mincer Red 12412B  CAPACITOR 250 MF 100-120V 50/60 HZ 

Santos 12-12 Meat Mincer Red 12413  CAPACITOR RING 

Santos 12-12 Meat Mincer Red 12414  SCREW CB M 4 X 20 ZN 

Santos 12-12 Meat Mincer Red 12415  NUT H M 4 ZN 

Santos 12-12 Meat Mincer Red 12416  REVERSING ROTATIVE SWITCH 

Santos 12-12 Meat Mincer Red 12417  ROTATIVE SWITCH PLATE 

Santos 12-12 Meat Mincer Red 12418  CIRCUIT BREAKER 5 A (220-240V 50/60 HZ) 

Santos 12-12 Meat Mincer Red 12418B  CIRCUIT BREAKER 8 A (100-120V 50/60 HZ) 

Santos 12-12 Meat Mincer Red 12419  POWER CORD WITH EUROPE PLUG 

Santos 12-12 Meat Mincer Red 12419B  POWER CORD WITH USA PLUG 

Santos 12-12 Meat Mincer Red 12421  CIRCUIT BREAKER 5 A 220-240 V 50/60 HZ 

Santos 12-12 Meat Mincer Red 12425  ROTATIVE SWITCH BUTTON 

Santos 12-12 Meat Mincer Red 12430  SCREW TC 3,5 X 6 ZN 

Santos 12-12 Meat Mincer Red 12432  SCREW H M 4 X 16 ZN 

Santos 12-12 Meat Mincer Red 12435  SCREW H M 4 X 10 S/S 

Santos 12-12 Meat Mincer Red 12439  SCREW H M 6 X 12 ZN 

Santos 12-12 Meat Mincer Red 12440  WASHER AZ 6 

Santos 12-12 Meat Mincer Red 12500  COMPLETE STAINLESS STEEL FRAME WITH TRAY FOR 12-8 

Santos 12-12 Meat Mincer Red 12500-
12 

 COMPLETE STAINLESS STEEL FRAME WITH TRAY FOR 12-
12 

Santos 12-12 Meat Mincer Red 12501  BOTTOM PLATE 

Santos 12-12 Meat Mincer Red 12502  S. STEEL BODY 

Santos 12-12 Meat Mincer Red 12503  REAR SHEET 

Santos 12-12 Meat Mincer Red 12504  TRAY HOLDER 

Santos 12-12 Meat Mincer Red 12510  STAINLESS STEEL MEAT LOAD TRAY 

Santos 12-12 Meat Mincer Red 12520  SEAL 

Santos 12-12 Meat Mincer Red 12521  RUBBER BUFFER DIAM 12 H 7,5 

Santos 12-12 Meat Mincer Red 12522  SCREW M 5 X 10 S/S POELIER 

Santos 12-12 Meat Mincer Red 12701  COMPLETE MINCER BODY WITHOUT PUSHER 12-12 



Exploded diagram and spare parts list  DN639 

4 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 
 

Santos 12-12 Meat Mincer Red 12702  MINCER BODY S. STEEL 

Santos 12-12 Meat Mincer Red 12705  LATERAL LOCKING SCREW 

Santos 12-12 Meat Mincer Red 12706 AE283 COMPLETE FEED WORM SCREW (12-12) 

Santos 12-12 Meat Mincer Red 12709  NYLON GASKET 

Santos 12-12 Meat Mincer Red 12710 AE284 STAINLESS STEEL KNIFE N12 

Santos 12-12 Meat Mincer Red 12711 AE285 STAINLESS STEEL PLATE N 12 -HOLES D 3MM 

Santos 12-12 Meat Mincer Red 12712 AE286 STAINLESS STEEL PLATE N 12-HOLES D 4,5MM 

Santos 12-12 Meat Mincer Red 12713B AE287 STAINLESS STEEL PLATE N12-HOLES D 08MM 

Santos 12-12 Meat Mincer Red 12714  THREADED S. STEEL NOZE 

Santos 12-12 Meat Mincer Red 12801  SET OF 3 SAUSSAGE CONES 

Santos 12-12 Meat Mincer Red 12802  GRID NB8 DIAMETER 20 STAINLESS STEEL 

Santos 12-12 Meat Mincer Red 12803  GRID NB12 DIAMETER 20 STAINLESS STEEL 

Santos 12-12 Meat Mincer Red 12902  GRINDSTONE 

Santos 12-12 Meat Mincer Red 12910  GRINDSTONE KNIFE SHARPENER ATTACHMENT 

         

 


